Chemistry



NAME ______________________________________

Quiz – Stoichiometry # 2
1
LIST THE STEPS NEEDED TO SOLVE A STOICHIOMETRY PROBLEM IN ORDER.

A
Set up the units of the mole proportion

B
Convert the answer of the proportions in moles to grams if that is what is asked for.

C
Convert the grams in the problem to moles, if the information is given in grams 

D
Set up a mole ratio from the balanced equation.

E
Solve the proportion

F
Substitute the information from the problem into the proportion 

The first step is: 
__________

The second step is:  __________

The third step is:  
__________

The fourth step is:  
__________

The fifth step is:  
__________

The sixth step is:  
__________

2
Why is balancing a chemical equation a key skill in solving stoichiometry problem ?

.________________________________________________________________________________________

.________________________________________________________________________________________

.________________________________________________________________________________________

3
What unit is never put into a stoichiometry ratio or proportion ?
_______________________

4
What is the  molecular weight of the following:  


The mass of Hydrogen is 1 gram

The mass of Oxygen is 16 grams


4a   H20  _______________


4b   5 H20          
   _______________


4c   10 H20    ____________


4d   1,000,000  H20     ____________

